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1. A particle is moving along a straight line such that
when it is at the origin it has a velocity of 4 m/s. If it begins
to decelerate at the rate of a = (—1.5v'2) m/s?, where v is
in m/s, determine the particle’s position and velocity when
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X. Rod 4B rotates counterclockwise with a constant
angular velocity w = 3 rad/s. Determine the velocity and
acceleration of point C located on the double collar when
6 = 45°. The collar consists of two pin-connected slider
blocks which are constrained to move along the circular
path and the rod AB.
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M. The uniform slender rod has a mass of 5 kg. If the
cord at A is cut, determine the reaction at the pin O,
(a) when the rod is still in the horizontal position, and (b)
when the rod swings to the vertical position.
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IV The slender rod has a mass m and is suspended,
at its end A by a cord. If the rod receives a horizonta]
blow giving it an impulse I at its bottom B, determine the
location y of the point P about which the rod appears to
rotate during the impact.
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V The 5-1b box B is dropped from rest 5 ft from the
top of the 10-1b plate P, which is supported by the spring
having a stiffness of k = 301b/ft. If ¢ = 0.6 between the
box and plate, determine the maximum compression
imparted to the spring. Neglect the mass of the spring.
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